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E) The population of Wileyburg at the end of 2013 is 100 peeps and is growing wy.

It grows to a population of 150 at the end of 2014. Find the population at the end of year
2018.
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B) How many zeros does f(x) = 4x* - 6x* - 2x + 7 have? % ; /
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Find f(2) = ll Identify the y-int of f(x) = 7
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D) Given u,=21,18, 15, 12,9,

Is the above sequence geometri@ or neither? 0( - - B
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Write the explicit equation for the sequence: @

Find the 64th term 2__— b &

Find the sum of the first 100
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Find the length of longest rod to fit on bottom of rectangular

e S g dt

Flnd the length of the longest rod to ﬂ in the rectangular prism:
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